Directions: - Please write a functions for the piecewise graph below. Hint: Itisin 4 pieces.
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The movie theater charges admission to groups according to the : . _ et )
following policy. Groupsof lessthan or equalto 10 people are e B RA iR
charged a rate of 58.04 per person, white groups of more than 10 T JRON WS N NN
people are charged a reducad rate of $6.00 per person. by ,/
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b} I bring all of my friends to the movies {all nine of them}, we 100 b //
would pay the 10 person movie rate, We could bring other RN,
people for free if we paid the otherreduced rate. How many ' )b a
exfra people could we getin the movies for free based on the : ,,-/
new rate? Would the final price be the same, less, ormorethan 50 o=oepfdes
the 1l personrate? By how much? 7
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# of people
¢} Canyouwerite a mathematical modelexprassingthe smount s
group wilt be charged for admission as a function of the number of people in the group.
Let Cfx} = cost and % = humber of people. cC ] X , x&0
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